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BEENENE - BIKGIEEE - FoMEPEHRESE  IRSEWLE
ElAE ~ BRI FEARA - SRR USRS & 2 KSR RIELRY
Bz I=sIR -

CBIFERERNAZERBERS  ZHAEAEERERIN - 20 XI5

MEEEER  BofeFMARERY  BOCKEER BENORER SR |
aan e REARERZES (10 0 ) - REBFEME - FORANRE - W)
BMRTEEESEEFER - SRIPEREESRIFES - (157)

 BEZBANMIVOR - SIEEXKE - 88 REBREER 5 SR A FRY

& iR E R ANE - ISHEME A/ NEHEEENRER - FIRE
P EEREZE N
) BELIBRK S IANBR AV R - 26 2 LUREES )< ?RITEE? (1077)

() Bk eEsmE —ibi - HRE—HEEE - AFEIR - WURHIR

B EEEIANIINEAN 24tk - ERORBERZER - LEBIRERESE
PIREABIDRABK KA S IR—MBEZEZKK ? BTE? (157)
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(— REBHERE A —TEINE B BE 1 28 3 AURRERD BREREER ?
(1077)
() BEXKRAENERS £ - E_TEABEERE? (157 )
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BREDRETTIED  SURE AR SESHREE  BENERA

HsRMRESHEN LR HE 2B - RIS ZRE Y BERE
A= - RE - EERE/MAZA SR EREES T 2 it - A
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MG EATFRTREEERGRREERE - TR ESHRARRE
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FEIREIR

ILAEEH4E  ES257, H28 -

2. A E - ol MNRBEEHRFFS - BEERETR

3EAWENFE - BEATED -
AABEHTER - ol =R

I>

—  HEE TR

(—) SRPMTHEREEE » RAREEEEREEENER - (1249 )

() HUBRRRBRS IR - HE L - FREEERE Y Mm%
(RAEBEBARE - MEERTMERBEREA)  TEEK S
TEMRE (S0K% ) M - BILRBESIMEERNER - (139)

— -~ Al NI

(—) UBEEwRERE? (57)

() REARMAIFII D FIS CH1s007 » FETHE 1 AT AMRIEIIERERS
= (109))

(=) AR R B EEELIAR - BEERIAE TE’]%F’%—? (kg/min) - WEtE
IR ABRSIZEBRIZRME (kg/min) - (10 7))

— -~ A EE MIRERE

( — ) Suppose a tank contains 1000gal of water in which initially 100 Ib of salt is
dissolved. Brine runs in a rate of 10 gal/min. And each gallon contains 5Ib of
dissolved salt. The mixture in the tank is kept uniform by stirring. Brine runs
out at 10 gal/min. Find the amount of salt in the tank at any time t. ( 8 73 )

( —_ ) Find the general solution of y"—-5y'+6y=-3sin(2x). (8 73 )

(=

) Solve the initial value problem. (" +ye*)dx+(xe’ -)dy=0, y(0)=-1. (9 7 )

KB 1



7 ~ Find the solution of the initial-boundary value problem.

(—)

o’y , 0%
ot? Oox?

y(x0) =0 and %(X,O)=Q(X) for 0<x<L.(12%))

_ . ou |, du
() §=kax—2 for 0<x<L,t>0, u(x,0)=f(x),for 0<x<L

u@©,t)=T,, u(L,t)=T, for t>0. (13 %)

c?— for O<x<L,t>0, y(O,t)=y(Lt)=0 for t>0,

KK
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) BERHARTE  BEE - AR AR - HARESE  BEE  WE
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FEEB Y XL —ULEAFE— MR NER - BEREE
BEER Y WAABZL  BExEE - ((BEEHRZEmRLY))
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ER - ZFUIERARB - EWEBEETF | ((2B50-250))
h~ FHE G TEFZRA M \EET  EEt . R 28 - o ((GRsg-BE1))

&~ 532 1 50 %)
() #E (IEREZEH) & SR F2EFBE - TR
RRLB ; KT ZBABA - TERRIAS - RgFAIBTER 25
C UBFREZEGKT SR TAEMRABFEEZE - FLWA
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B3 1



DIRESIRER 104 R 2 A

T AEZ AR
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1. IEI\EE j(L p /\ E
2. AFE¥VEE - TK} BHRXFFEE  BEESET -
ZHEES - BEATE
Vocabulary and Phrases : ( 20 73 )
(—) BBey T (7N) shEE8)
() Bfass (€) REUE
(=) BHIRS (J\) R EE
() ZEREEZEER (1) BLBH¥
(h) =tz (T) AER5S
Translation : ( 30 73°)
( —

) For at least half a century, police have considered it important to cut to a

minimum of their response times to crime calls. The faster the response, they
have reasoned, the better the chances of catching the criminal at or near the
scene of the crime. (10 73')
(— '

) Officers shall not use their police power to resolve personal grievances (e.g

those involving the officer, family members, relatives, or friends) except under
would justify an arrest. ( 10

77 )

circumstances that would justify the use of self-defense, actions to prevent

injury to another person, or when a serious offense has been committed that
AN

( = ) The essence of the police role in maintaining order is to reinforce the informal

control mechanisms of the community itself. Areas where community controls
break down are vulnerable to criminal investigation. ( 10 73 )



+ Reading Comprehension : ( 20 73 )

Another large-scale study conducted by William Spelman and Dale Brown and
published in 1984 was also to challenge a core police assumption of that period —
that improvement in rapid response to calls for service would lead to
improvements in crime fighting. This study was developed in good part because
of the findings of a prior investigation in Kansas City that found little support for
the crime control effectiveness of rapid response to calls for service (Kansas City
Police Department 1977). With support from the National Institute of Justice,
Spelman and Brown investigated 4000 victims, witnesses, and bystanders in
some 3300 serious crimes in four American cities. This was another major study
in terms of the resources brought to bear and the methods used. Again it
examined a strategy that was aided by technological advances in the twentieth
century and that was central dogma of police administrators — that police must get
to the scene of a crime quickly if they are to apprehend criminal offenders.

RIBULEAS - BEXEIZELDIMNEE (B8 27 ):

( — ) Spelman and Brown BYfF 5T & 38 RS —2F 2

( — ) 7£ Spelman and Brown FY&T3T 2 B - WHMEIM £ 2= EEE B LTS ?

( = ) Spelman and Brown BY8 5% 2 £ BHMEESFIROSZ 55 M ST 2

( 9 ) Spelman and Brown A 25 & 58 B fHA 52 & B 24 (@ ==y 2

RIBULEARS - BPXEIZELIMNEE (BE 37 ):

( £ ) Spelman and Brown FTZ k&R B IR 211 2 ?

( 7N ) 7E Spelman and Brown ff 5% 2 BURVEBLIWF 2T - B{0Af5TEEIR ?

( £ ) Spelman and Brown 3TN E G E 12K B 4000 EHFRE S - SLLEMTE R
EEREEHFPRTEAN?

( J\) “dogma of police administrators” Y = 5 4 1] ?

7Y ~ Essay : (30 73 )
Write an essay on the following topic. The length of your essay should be no less

than 100 words and no more than 200 words.
“Mobile Police Station” and its Impacts
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TFEIRSIA ¢
IXEER 48 BESAH2DS D, H2EB -
ARYE  IAREERFFE - BEEFER -
3EMMENFE BEBATE D
ANFBEHGTER o P EE -

—  BREERFERMEHRCOERRBITENRAE ? IETE
URHP K IGIRBERRFAEB B TR 7

— BN ERRREREBEMIEMEXK ZIRZAME ? [EHLE
BRSO - BERKEZH RGN ?

Cas e E NAIEE

(—)Fiﬂd[jioooZZ%eizzdz]—jioooz%eizzdz+[jiooo %e‘izzdz]zz (7 77)
T T T

(Z)Let X,,X,..X,, be a random sample of size 25 from N(0,o?)
Determine a constant K such that P(—kS%sk)=0-95 . The
coefficient of variation is defined as the ratio of standard
deviation (S) to mathematical mean (X).(18 )

Possibly useful data: From F table P(F,, 2249.052) =0.95,
from Z table P(Z £1.645)=0.95

KB 1



= ElE NAEE

(—)Could  "mutually independent” and “mutually exclusive”
occur simultaneously given that P(E)#0 and P(F)#0 ? Describe
or show your results or proof in terms of event E and F.(5 77)

(_)Describe (1) the difference between “standard deviation” and

“standard error”  (2) total probability theorem. (5 77)

(=)A prisoner is trapped in a cell containing three doors. The first
door leads to a tunnel that returns him to his cell after two
days of travel. The second leads to a tunnel that returns him to
his cell after three days of travel. The third door leads
immediately to freedom. Assuming that the prisoner will
always select doors 1, 2, and 3 with probabilities 0.5, 0.3, 0.2,
what is the expected number of days until he reaches freedom
2 (15 7)
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TFEIRSIA ¢

IXEER 48 BESAH2DS D, H2EB -
ARYE  IAREERFFE - BEEFER -
3EMMENFE BEBATE D

— IEFRIEEBRFEH T EREBERZEBENEHIRENEZE - HER
BB L2 2 F 2T p K e R A R - &k

(— ) BIE=_TERBWNEARCICEY RIS IBHERIE SR FEEN
ZAEEBN FORKIRIE - WS H AFHIERETMIZE - FEHE -

() ERMNRNERRAFEZ ( EHERESE 480V BEARE N ) HEERZE
BIEEEE  SBRmEES ( BUBERERE KK (deep seated
fires)iZ P ) SRE R F LTI OKGRHF - BEEA I KT - EHik
BAMH C RETEE - K BREMERERGE AT ? A m

(=) BFEAHEEZEBRBRFEN AR EBRERZBZR O - B
EZERNANBTREETEEIER/O ?

(0 ) MW bhmaERR - o T I DUE R K LR - R EE
ZREIERKXK 2N ? WK ZRIF ( Enclosure Integrity
Testing ) A REEHBIFRETIRE N - HAERBASREGR GG
fa] ?

_ EREERYNER R EE B SR R EREDE « ERE
ERARMIIBHERE A BZEZENIEZE 2R AENER=
REEERRZ VTR AR? WEHITRE—PHIEEERZ 2R E =
FEMEHRBE= VBBV EE OB R ERET B 2RFR A
HER C B ASMIBBEINA ? EaEEY A EEE L 5B
ABHE - FREFERERN ? BRSPS E ST ?
TEHER LB HIRVMEINAREEE AL - olgEB MLE[RE P

EEY
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IR %IE

1 ZIKIZII E ’ %lJ—__l 25 , -~ 3 E
2. Kﬁﬁ? Eré TKTZE&E%’ZFT?T’E% BIEERRET -
SEHEEES BB ATED -

103 F 3 B 27 H M - UREIEHCERE R NEBNEREY T

KE - BRAERZHE - i NEEZEIENERE - 175
AETEELRE - BB ABEWRAITE - bR S HAUE ERRAZI -
ARSI - A% - RINERAERIRSR - 550 5 BBEBBAE
TASET 4 AEBRIZRE | BanBERIa s b 22 B SR K g R Al
BOKIZEBERGERER - PURARIALEBBRIFELZE -

BB E RS @7&2%%% FOEIB KA 2 - FBiR g E

HIEEANBRE? (5 7)) »EESEH OB ERING Bl
MEARE - LU ERMEEH - BmibEhES - S8 RRE
5 - tZDﬂ%?ﬁ%%ﬁ%ﬂﬁﬁﬁﬁﬁ%&éﬂﬁBJSTEISZF;%DBLHﬂEﬂ% ?
(57 ) PUKRFRFBAEBREEMREOES ZE/NARIE? (157)

RIBEEBIAMRDAIEHE S ( American Society for Testing and Materials,

ASTM ) AN ERD BERAE KGRI m S Z 5 R MR EE B YA

BIBIA - VAW AR ETUBZEE4E A ( Bl ASTM E1412 ) KARE)
1B 2R B4 E M EEELA ( Bl ASTM E2154 ) HEEH1TZE A ( blank )
all B SO AR AE qp ( standard ) sU8% - B R IREZ S a0 AU BRI T IT B
TEEAR  EERR/O?
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N~ NIBERSEREKSREESSALE - AR ERZFAK

BEINEEY) - sz DA LUEMMR AR 60 CRYRE MIRMY2<ENEZEH
7 SRS 18 /N - 5L 200 mL Z#i{EMk ( CS, ) BRBiE -
FARMEENEREE  SESNENIRGE BTS2 FE
#71& ( total ion chromatogram, TIC - #1[E A ) KEZZHEE B HTE

( extracted ion chromatogram, EIC - ll[E B &[& C ) - sl A&
FEENEE Y = B AR A K DR 2 U &+ AR5 B AL 4 B 45 v 2 T
=l

Abundanca |
1.2,4-TMBE
4,000,000
3,000,000
1 )l
o-Xylene ———— |
m,p-Xylenes -— ey i
1,000,000 | |
2,4-Dimethyl-1-hepteng ————— | | ‘w M‘ Mn
e il ,JL,MJMJ__, Ak WJ b
3 4 5 ] =] 9 10 11
r T T T T T T T T T —_—T T T T T r T 1
Carbon# & 7 3 1 1o 11 1z 13 i4 15 18 17 i@ 48 @0 2 22 23 24

A~ KSR MIAOR R F 2= BN IR - AARMEENE

R E DTS 2 TIC BIFE (1,2,4-TMB: 1,2,4-trimethylbenzene )
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Abursdsncs C-Alkylbenzaenas
1,000, G0 {ion 105)
S00, 000 1 i
a
B0, 000 C -Alkyibenzenss
{iom 119)
400,000
S, B0
° A
= -indanas
150.000 (ion 117
100000
50,000
o e s

0,000 G -indanes
(o 131)

A0, 0D
e M,MJ' u
o i L Fo T
C -Maphthalenss
20,000 fiam 142)
10, oo
o " ﬂ 1§

C-Maphthalenes
4,000 (ion 156)
2,000 &
(=] T T T T i J' T H‘ T T T T T 'I' ﬁ T 1
[ r = = 10 Thme
Castoon # @ 10 11 12 13 ta 1s

B~ EHOKSKIZENGE M AR i A 22 BUR i Eix b 2 - &2
rEREED TS ERIESY (aromatic ) 2 EIC B35

Anundances Alkaenas
wooooo|  (ion 55) 1
o MN
o o .
Alkanes
000, MO0 {ion 57)
200,000 L\
o i

Cycloalkanas

B0, 00 (ion 83)
40,000
ol y ’ ; i i - : — .
o a 4 5 & 7 a ) 10 11 12 1a 14 15 T
Carbon # & ¥ a & o 11 = 3 14 15 16 17 18 19 D0 21 22 23 24 ot

C » EFOKSIZ IR M AGE A A == BN i B IRMIE - AmrE/E

I

rEE &P SiEIRIEEY) (aliphatic ) 2 EIC [Bl5E
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FEERSIR ¢
IXABER 48 BESH 250, H2E -
ARYE  IAREBEERFFE - BEEEFER -
3EMMENFE BB ATE D

— ~ BEE MNIRRE
(_)XISXM dx=7(8 %)

1
cwijl_xdxz?(8

S

)

=)k Iozsin P xdx=7? (94
~ . EEETHIRE -

(—)3k | sin*(3x)-cos*3x)dx (12 4 )
. dx
(IR Ty (139)
BB TR

(—) Ky=f)=v1+x* . LL0 B OKZES RN - (89)

—\ jim V16x —x* —2%/4x 5 N
=T e ST

() skz=f(xy)=y> -3x°y—3x* -3y* +1 7 iR{EL %L - (9 %)
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I~ FEEE MEE
()% || (x+y)’sin’(x—y) dA=2 Hb RELUO, 1) (1,2) (2,
DKL, 0)BIBR Z1IERTEERE - (13 1)

Ok |7 e dx =70

WiED 2



hRLE A ER 103 BEETE LI A BERS S

FLHEERMNBYREAR

P Rl =Fh SLEP B4 FE Hm A RBE A A
= R i ve 5 N B E P AR

Line@& 3% - @gaofeng
@B EIL C 07-236-7296

FEIREIR
1LAEER 2 AE - SRESAHL070 ; 18-
2ARYE - IAREB RS - BEEFES -
3EMMEFS EEATE D -
ABLIENERFE -

S RETHEGZE  (S/NE105 250 %)
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— ~ Vocabulary and Phrases translation : (20 72)

1

Nl

NEEESEES

AR

- 518

- R EAEBNET =

* a motor bike

» acute stress disorder

> cloned cars

> electronic monitoring

» intelligence apparatuses

— ~ Translation : (30 7)

1~ We have investigated the alarm and there is a small fire on the fourth

floor. The fire department has arrived and the fire has been contained.
We are asking everyone to leave the building in an orderly fashion.
Exit through stairwell B on the south side of the building.

~ As people start using their smart phones to tap into computer networks,

the damage caused by malware could grow more severe. If smart
phones serve as payment devices, malware that nabs your identity and
taps directly into your credit line could follow.

> In an unprecedented effort to save the species, South Africa has bought

new ships equipped with top-of-the-line military night-vision
equipment. They've also begun testing seized boats for DNA to prove
they were used in abalone harvesting.

ESg!



= ~ Reading Comprehension : (20 7)

Most people can remember a phone number for up to thirty seconds.
When this short amount of time elapses, however, the numbers are erased
from the memory. How did the information get there in the first place?
Information that makes its way to the short term memory (STM) does so via
the sensory storage area. The brain has a filter which only allows stimuli that
Is of immediate interest to pass on to the STM, also known as the working
memory.

There is much debate about the capacity and duration of the short term
memory. The most accepted theory comes from George A. Miller, a
cognitive psychologist who suggested that humans can remember
approximately seven chunks of information. A chunk is defined as a
meaningful unit of information, such as a word or name rather than just a
letter or number. Modern theorists suggest that one can increase the capacity
of the short term memory by chunking, or classifying similar information
together. By organizing information, one can optimize the STM, and
improve the chances of a memory being passed on to long term storage.

When making a conscious effort to memorize something, such as
information for an exam, many people engage in "rote rehearsal". By
repeating something over and over again, one is able to keep a memory alive.
Unfortunately, this type of memory maintenance only succeeds if there are
no interruptions. As soon as a person stops rehearsing the information, it has
the tendency to disappear. When a pen and paper are not handy, people often
attempt to remember a phone number by repeating it aloud. If the doorbell
rings or the dog barks to come in before a person has the opportunity to
make a phone call, he will likely forget the number instantly. Therefore, rote
rehearsal is not an efficient way to pass information from the short term to
long term memory. A better way is to practice "elaborate rehearsal”. This
involves assigning semantic meaning to a piece of information so that it can
be filed along with other pre-existing long term memories.

Encoding information semantically also makes it more retrievable.
Retrieving information can be done by recognition or recall. Humans can
easily recall memories that are stored in the long term memory and used
often; however, If a memory seems to be forgotten, it may eventually be

Q)



retrieved by prompting. The more cues a person is given (such as pictures),
the more likely a memory can be retrieved. This is why multiple choice tests
are often used for subjects that require a lot of memorization.

1~ According to the passage, how do memories get transferred to the
STM 7
(A) They revert from the long term memory.
(B) They enter via the nervous system.
(C) They get chunked when they enter the brain.
(D) They are filtered from the sensory storage area.
2 ~ The word elapses in paragraph 1 is closest in meaning to :
(A) continues
(B) adds up
(C) appears
(D) passes
3 ~ All of the following are mentioned as places in which memories are
stored EXCEPT the :
(A) STM
(B) long term memory
(C) sensory storage area
(D) maintenance area
4 ~ Why does the author mention a dog's bark ?
(A) To provide a type of interruption
(B) To give an example of a type of memory
(C) To prove that dogs have better memories than humans
(D) To compare another sound that is loud like a doorbell
5~ How do theorists believe a person can remember more information in a
short time 7
(A) By organizing it
(B) By repeating it
(C) By giving it a name
(D) By drawing it



6 ~ The author believes that rote rehearsal is :
(A) the best way to remember something
(B) ineffective in the long run
(C) more efficient than chunking
(D) an unnecessary interruption
/ ~ The word it in the last paragraph refers to :
(A) encoding
(B) information
(C) semantics
(D) STM
3 ~ The word elaborate in paragraph 3 is closest in meaning to :
(A) pretty
(B) efficient
(C) complex
(D) regular
9 ~ Which of the following is NOT supported by the passage ?
(A) The working memory is the same as the short term memory.
(B) A memory is kept alive through constant repetition.
(C) Multiple choice exams are the most difficult.
(D) Cues help people to recognize information.
10 ~ The word cues in the passage is closest in meaning to
(A) clues
(B) questions
(C) images
(D) tests

70 ~ Essay : (30 77)

Write an essay on the following topic. The length of your essay should
be no less than 100 words and no more than 200 words. In your opinion,
does "Sunflower Movement" create a new threat to Taiwan’s national
security ?
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( — )Describe “moment generating function” and “pooled sample variance”
of independent sample t-test.

( _ )With linear regression analysis, what does Least Square Method and Normal
Equations mean ?

( = ) Specify a reasonable or suitable probability density function (not mass
function) for describing possible fire risk (i. e. random variable or
function) and its statistics (%5t =). Also, describe the purposes of
Chi-Square test.

( 4 ) With reference to simple random sampling, what does the distribution
(if any applies) of the statistics (=24 )2 follow if the population is

(o

normal and n is small? What does “standard error’” mean?
( -1 ) Define “significant level” and “power of test”.
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( — ) An electrical firm manufactures light bulbs that have a length of life
that is approximately normally distributed with a mean 40 weeks and
standard deviation of 14 weeks. If 49 bulbs are randomly sampled
from the firm, find the probability that the sample mean of 49 bulbs
exceeds 42 weeks. (7 7 )

( _ ) Suppose that the five random variables X, . X,...X; , are i.i.d. and each
has a standard normal distribution. Determine a constant ¢ such that
the random variable c(X, +X,)/{/XZ + Xz + X2 will have a t distribution.

(877)

( = ) A random sample of 8 cigarettes of a certain brand has an average
nicotine content of 2.6 milligrams and a standard deviation of 0.9
milligram. Construct a 99% confidence interval for the true average
nicotine content of this particular brand of cigarettes, assuming the
distribution of nicotine contents to be approximately normal. ( 1073)

Possibly useful data: (Z0.025=1.96 * Z0005 = 2.58 * P(Z<-1)=0.1587 - tg 0.005 =
3.355 17,0005 = 3.499 - tg 0.025 = 2.306 )

IO~ 8l (Na) ~ BRIEIN ( Na:02 ) ~ W{EEF (ZnaP2 ) - fix{EE5 ( CaCy )
Klix{bim (AliCs ) MBFRKEZME - EEUKEBRIZEHEEER
& AmBELAHER - BBt hEYE B KIEHE Z BB RIETS
B3l - WERAEGEM ?
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— ~ Vocabulary and Phrases into English or Chinese : (20 73

1. RIEHE 6. red-handed offender
2. B2 7. vehicle impoundment
3. JEEE 8. security breach

4, BH 9. malefactor

5. FF/Km PAE AL oE 10. avian influenza

—_ ~ Passage Translation : (30 73

1. For many years, the law enforcement community has attempted to detect impaired
drivers through numerous innovative efforts and measures. The problem of driving under
the influence is well known throughout society, yet, even with all of the strategies used to
remove these drivers from U.S. highways, it continues to cause needless and tragic loss
of life each year. When will such madness end? When will society no longer tolerate
drunk driving? Until that time, the law enforcement community must attempt to

contain the carnage inflicted upon law-abiding citizens by impaired drivers.

2. ARmHAEERIRTT(Bank of America)BRB) - MBPEEE S  BERBEEE AR
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HEEBEAR - 18 7 —8&RF - ARZE - — Ul AR E S E 38375 S0 BN RIE IR 26RY
EEWBZ%%EEE%&EEH&@E@%% MEEHE—ICFEIR G MMEN 25 _IBFIR
57



— ~ Reading Comprehension : (20 73)
Q)

Internet dating has gone from daring to dull.  As a result, many singles these days are
looking to their cell phones instead of their laptops in an effort to locate love.

Cell phone technology now allows users to post tiny photographs and mini-profiles to a
dating service mailbox, which can be visited by other cell phone users in search of a date.
When a profile looks promising, users use their phones to send a text message to their person
of interest.

Some phone dating services also are experimenting with ways to turn cell phone into
homing devices. In other words, the phones can alert users to potential dates who may be
just a short distance away - or, at the other end of the bar.

Europeans are heavily into phones dating, and China, which has 430 million cell phone
users, also has embraced “mobile romance.”

The wireless service providers love phone dating, too, because all that text messaging
pumps up their revenues. Analysts estimate that global mobile dating revenues were US
$31 million in 2005; by 2009, that figure is projected to reach US $215 million.

Some people say that phone dating is more about flirting than about serious romance.
“People who want to use their mobile devices are more interested in short-term relationships
than people who want to use their computers,” said an officer of Match.com, a service with a
quarter-million mobile users.

But, who really can say for sure. The next time the cell phones rings, it could be one
calling Cupid.

1. Which is the function the dating service can offer through cell phones?

(A) Alerting users to potential dates.
(B) Increasing user’s revenues.
(C) Holding a wedding.
(D) Giving a gift to possible dates.
2. How can someone get information on any possible date on their cell phones?
(A) By asking the operator.
(B) By making an emergency call.
(C) By using a laptop.
(D) By looking at mini-photos in a dating mailbox.
3. Who may gain the most advantage of cell phone dating economically?
(A) Users.
(B) Possible dates.
(C) The wireless service suppliers.
(D) The store owners.



4. What are cell phone romance seekers often interested in?

5. According to this passage, which of the following statements is NOT true?
(A) Many unmarried people use their cell phones rather than laptops to locate love.

(1

6. Which of the following is NOT a requirement for the job advertised?

(A) Shorter-term relationship.
(B) Getting a new laptop.
(C) Finding other phone users.
(D) Short distance calling.

(B) Match.com has two hundred thousand mobile users,
(C) European people like phone dating.
(D) Internet dating has gone from daring to uninteresting.

Outstanding opportunity with local real estate corporation.
Requires strong background in real estate, financing,
closing. Some legal training helpful. Prefer candidate
with M.A. and two or more years of successful real estate
experience.  Broker’s license required. Salary range
$16,000-$23,000 commensurate with education and
experience. Begin immediately. Interviews will be
conducted Tuesday and Thursday, June 10 and 12. Call
for an appointment 243-1153, or send a letter of application
and résumé to:

Personnel Department

Executive Real Estate Corporation
500 Capital Avenue
Lawrence, Kansas 67884

(A) At least two years experience.
(B) A broker’s license.

(C) An M.A.

(D) Extensive legal training.

7. The salary range indicates that

(A) everyone earns a beginning salary of $16,000.

(B) the salary depends upon the amount of education and work experience that the

applicant has.
(C) some applicants would earn less than $16,000.
(D) candidates with an M.A. would earn $23,000.



8. What should an interested candidate submit with his or her application?
(A) A current address and telephone number.
(B) A signed contract.
(C) A summary of work experience.
(D) A request for employment.
9. This passage would most probably be found in
(A) the classified section of a newspaper.
(B) a college catalog.
(C) a textbook.
(D) a dictionary.
10. Real estate employees would most probably
(A) persuade people to buy insurance.
(B) sell houses.
(C) give professional opinions on personnel management.
(D) teach people how to do bookkeeping.

70 ~ Essay : (30 79)

Write an essay on the following topic. The length of your essay should be no less than 100

words and no more than 200 words.

How to Create an Anti-Graft Society
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(—) Please describe two examples for each of continuous random variables and

“nominal data” ($4 H &f}) relating to fire sciences.(5 47)

(__) Define “mutually exclusive” and “sampling distribution”. (5 473)

(=) ff(x)= J21_7z2

(”4) Concerning simple random sampling, what distribution does each of the

e =" then E(X?)=? (Nointegral!) (5 4%)

statistics (7 and Grm) follow if (1) the population is normal and n is

small? (2) the population is not normal and n is large? (5 47)

KB 1



(11) Describe the merits or characteristics of cluster sampling ( & =UsE BE0P%
filifE ) method. (5 97)

a5 2% NI RE

(—) Suppose that fires in a compartment can be classified into three types with
given probabilities: F1: Smouldering fire, P(F1)=0.2; F,: Flaming fire,
P(F2)=0.4; Fs: Flashover fire, P(F3)=0.4. Let D denote the event of death
and suppose that P(D|F1)=0.01, P(D|F2)=0.3, P(D|F3)=0.699, find out the

probability of death of an occupant in a compartment fire.(6 47)

() Ifx,,x,...x,~iid N(0O, 1), find out the distributions of the following random

variables : (1) (X2-X2)72; (2)(XZ+XZ+..+ X (XZ+X2+...+X2);

(B) X, IyX2+X2+..+X2  (997)

=) FEESREIEEEEMN 3 B o LEEZIEE 5 2T U R
- BBt 36 (U HILIEEEFRIA - 4R 36 M ITRESES
BES550F  BEBRENEEEZZ 12 2T - () BERENE
RRREBIIRR - QFY | WEEE S ENHEHBR O
FES AL ERIEIZ ? (2=0.05 tss005=1.690 > tss 0025 = 2.030
' Zoos=1.96) (10 %%)
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(D)BAN x=0-sno * y-1-coso + KLY (8 %5))

dx?
(=)B—EmERNEEAIK  H¥ER 360 27 @2 5w L 900
Y A7/ MRREREREAIK R DS - BSBKER BB W AR R RS
f? (997)

BRI
(—)KHHER y=2x—x* B2y =3x" —6x FRE M Z @I L - (12 2)
(Z)KTEE r =19NEAEOBEAR r=1+cosO NEB 2 @IFAIFE A - (13

77)

C e EE AR

(—)SKEREL f(x,Y,2) =x+2y+2z PRI HE x -y + z = 1EAAF B AT
x> +2y? =1 7 AR HARRBEERE - (15 7)

2 2 7

2
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9 4
HE - (10 )

MiE7D 1



- BEETHIRE -
(—)FBB[nx)"dx=x(Inx)" =nf (Inx)"*dx < (10 7))
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(=) [ dx= 7 (57)
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— ~ Vocabulary : (20 7)
1. isthe pat-down of a person’s outer clothing after a stop to see if the suspect has a weapon
or something that feels like a weapon, which can be seized by the officer.
( A) Search ( B) Arrest
( C ) Frisk ( D) Crack-down
2. Sharp objects and flammable items are on the aircraft.
( A') prohibited ( B ) promoted
( C ) admitted ( D) permitted
3. is the crime of deceiving people in order to gain something such as money or
goods.
( A) Piracy ( B') Murder
( C ) Larceny ( D) Fraud
4. Technical curricula are requisite in a wide range of fields.
( A ) assimilated ( B ') promoted
( C ) demanded ( D) acquired
5. The expansion of public services has caused concern that the civil service branches are
becoming autonomous powers.
( A') independent ( B ) advanced
( C ) superior ( D) perilous
6. Crowd behavior is characterized as a spontaneous collective reaction to a publicly observed
event.
( A) chaotic ( B ) gratifying
( C ) instinctive ( D) uninterrupted
7. Because of his novel approaches to scientific problems, Edison was able to patent dozens of
inventions.
( A) original ( B) varied
( C ) coherent ( D) unbiased
8. The fire salamander is so called because of an antiquated belief that it could withstand fire.
( A) well-developed ( B ) old-fashioned
( C ) carefully fabricated ( D) widely held
9. The engineer had a reason for changing the design of the building.
( A') peculiar ( B ) legitimate
( C ) sharp ( D ) subsequent



10. The recent downturn in the housing industry the poor economic conditions.
( A) radiates ( B ) symbolizes
( C ) spans ( D) synthesizes

+ Translation : (30 73)

Policy assessment studies in the 1970s cast doubt on the effectiveness of these strategies for
preventing crime. For instance, the experimental study of preventive patrol in Kansas City
found that changing the level of patrol coverage had no effect on crime and citizen fear of
crime. Other evaluative research showed that rapid response to calls for service from citizens
didn’t increase the likelihood of preventing a crime or apprehending an offender. Finally,
evidence from dozens of studies suggests that traditional police strategies to reduce, control, or
prevent crime are ineffective.

2. The safeguards introduced under the Police and Criminal Evidence Act, such as an impartial
custody officer, a right to free legal advice, strict time limits on the length of detention and the
tape-recording of interviews, have subsequently made it more difficult for the police to engage
in ‘fishing expeditions’, to detain suspects without firm grounds for doing so, to make informal
deals with them or to apply physical or psychological pressures to induce them to confess.

3. In a study of miscarriages of justice in the USA where the convicted person had subsequently
been completely exonerated as a result of DNA testing, it was found that the most common
contributory factor was mistaken identity, which occurred in 52 percent of the cases.
Caucasians misidentified African-Americans defendants in 35 percent of the cases, but
African-Americans also misidentified other African-Americans in 24 percent of the cases.

+ Reading Comprehension : (20 73

Concern for the environment in the US extends back into the nineteenth century, when nature
lovers and sports enthusiasts first sought protection for areas of exceptional natural beauty or
significance. But it was not until the late 1960’s that environment concerns entered the
mainstream of American political debate. By then many Americans had come to the conclusion
that more development was not necessarily desirable, especially if it meant more polluted air,
dying lakes and rivers, and a landscape strewn with unsightly waste, and crowded with sprawling
construction projects. In May of 1970, several environmental groups staged the first Earth Day
celebration, designed to heighten public awareness of environmental problems. The success of
that initial effort led to it becoming a regular annual event.

During the 1950s and 1960s, industrial and vehicle pollution levels had become a serious
threat to public health, so the environmental movement of this period focused heavily on
restoring and ensuring the cleanliness of basic air and water supplies. Rapidly expanding
development pressures were also spurring efforts to preserve unique lands and threatened
wildlife habitats, and to protect the endangered species supported by them before they vanished
into extinction. It is generally accepted that the environmental protection movement was so
successful because of its grass roots support; groups of activists in hundreds of towns that took
the initiative in cleaning up their own communities. During the 1970s, this local activism
reinforced support for the passage of key laws at the national level, such as the Clean Water Act,
Clean Air Act, Endangered Species Act, and National Environmental Policy Act, which together
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have constituted the foundation for environmental standards in the US ever since.

In addition to this national legislation, the year after the first Earth Day, by executive order,
President Nixon established the Environmental Protection Agency (EPS); an organization
dedicated to restoring and protecting the environment. The EPA spearheaded many
contemporary efforts to protect the environment, but it was not working alone. It was allied with a
wide variety of distinctly different and separate organizations ranging from a small number of
well-funded high-profile national and international organizations to many thousands of smaller
special interest groups and even individuals working at the local level. The EPA has now become
one of the government’s largest and most influential regulatory agencies. Through its own efforts
and in cooperation with other organizations, it has earned a large measure of credit for protecting
and restoring the quality of the environment in the United States.

Although one might assume that the cause of environmental protection would engender
universal support, it does have its detractors. One criticism that has been leveled against the
movement is the claim that its predictions about the dire consequences of environmental damage
have often been in error. Environmentalists counter this assertion by pointing out that their
warnings have often brought about changes on the part of the public, the government and private
industry, and that these changes prevented the predictions from being realized. However, just as it
Is often very difficult to gauge the impact of human activity on something as complex as the
environment, it is equally difficult to determine which side is right in this debate. Because
environmental issues cover such a wide range of concerns, this is a question that must be
considered on a case by case basis. These voices of dissent have demonstrated to
environmentalists the need to apply guantitative methods in assessing the extent of the destruction
they have witnessed, or the degree to which their work has been manifested in actual
improvement of the environment.

However vocal the critics of environmental protection efforts may be, given the very
considerable body of environmental legislation that exists, it is safe to assume that their views do
not represent the majority opinion. Private advocacy groups, the EPS, state legislatures and
Congress have worked together to enact numerous laws regarding air and water quality, land use
and waste management. That should be evidence enough of the broad extent of the popular
support that underlies the movement.

1. On which of the following does the passage mainly focus?

Earth Day’s impact on the environmental movement.

How to protect the environment of the planet.

The environmental protection movement, and how it began.
( The success of the EPA in protecting natural resources.

2. The word spurring in the passage is closest in meaning to
( A') opposing ( B') managing
( C ) supporting ( D) motivating

3. According to paragraph 2, why was the environmental protection movement so widely
successful?
( A') It protected plants and animals people cared about.

(A)
(B)
(C)

D)

( B ) It functioned well at the local level.
( C) It voted unsympathetic politicians out of office.
( D) It forced ratification of important national laws.



4. Which president established the EPA?

( A) Roosevelt ( B') Clinton
( C) Nixon ( D ) Obama
5. The word spearheaded in the passage is closest in meaning to
(A) led ( B) inspired
( C ) conceived ( D ) modified

6. According to paragraph 4, what was a common criticism of the environmental movement?

( A) It suggested measures that would harm the economy.

( B ) It predictions could not be prevented through practical action.

( C ) That it lacked the support needed to make any real progress.

( D) The environmental damage it claimed was not seen.

7. According to the passage, what effect did the criticism of the environmental movement have?

( A) It caused the environmentalists to change their methods.

( B) It decreased federal assistance for environmental protection.

( C) Itdiminished popular support for the EPA.

( D) It revitalized support for the environmental protection movement.

8. Which of the sentences below best expresses the essential information in the underlined
sentence in the passage?

( A) Critics of the movement were successful in dissuading many environmentalists from
supporting some of the more drastic measures that had been suggested by questioning the
quantitative methods they employed.

( B) Opponents of the environmental protection movement succeeded in getting the activists to
take another, more objective, approach to substantiating their claims.

( C ) People who disagreed with the environmentalists eventually were able to persuade many
that the methods employed by the environmental movement were invalid and their
conclusion incorrect.

( D) Members of environmental groups were reluctant to employ quantitative methods in
assessing environmental damage because they felt the results might not substantiate their

claims.
9. The word dire in the passage is closest in meaning to
( A) unrealized ( B ) possible
( C) grave ( D) imaginary
10. The word dissent in the passage is closest in meaning to
( A') opposition ( B ) support
( C) indifference ( D ) ambivalence
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